Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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in the direction of

(06 Marks)

1) curl(curlK) (07 Marks)

Show that F = %ﬂwj— (07 Marks)
X !

; (06 Marks)
, where C is the square formed

by the lines x=%1 ,y =+ (07 Marks)
Using Gauss dlvergence the ;
§F nds , where F (x —yz)1+(y xz\ 3
over the reglon 0 i_m (07 Marks)
9 w;ﬁ ’
2
Solve —=%.— 6 6% +9y = 6e’ (06 Marks)
«d dx
(07 Marks)

body weighing 4. 9kg s hung from a sprmggyA pull of 10kg will stretch the spring to 5 cm.

The body is pulledq doWn to 6cm below the static equilibrium position and then released.
“Find the dlsplacemem: of the body ﬁ*g;m ﬂfs equilibrium position at time t seconds. (07 Marks)

Solve —Z2@3—L42y=sin 2x (06 Marks)
dx? dx :
Solve (}32 +3D +2)y = 1% (07 Marks)
Solve x%y" —3xy' +4y (1 +x)? (07 Marks)
i Module-3

Form a partial dlfferentxal equation from the relation xyz = f{x +y + z) (06 Marks)
Solve the Lagrzmge s part1a1 dlfferentlal equatxon

x(y* - 2)p +y(@’ - x)q - 2’ - y’) = (07 Marks)
With sultable assumptions derive one dlmensmnal wave equation. (07 Marks)
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OR
Using the method of direct integration solve

3;
9z +18xy* +sin(2x—y) =0 (06 Marks)
20y
2
Solve oz — 392— —4z =0, given that when" (07 Marks)
ox* T ox
Find all possible solutions of the one dimi
au 5 82 4 &
= — (07 Marks)
El ox
(06 Marks)
(07 Marks)
(07 Marks)
(06 Marks)
(07 Marks)
(07 Marks)

.....

Using Newton s forward inte olation find y whenx % 38 from the following data:
X aT 60 @@ 80 90
4% [ » 250 276 304

oy (06 Marks)
tof the equation xsinx + cosx =0 near x =7
(07 Marks)

&
C fall — 8x*dx by taking seven ordinates. (07 Marks)

x i 10| CMRIT LIBRARY

Hx) [ i RANGALORE - 560 037
,,,,, (06 Marks)
Find a real root of, log10 x =12 by Regula — Falsi method in three iterations, given that
root lies in the :int‘ St (07 Marks)
Evaluate I i "dx taking six equal sub-intervals by using Weddle’s rule. (07 Marks)
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